CraampPron
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: 265

25 24
0

2

MoHTaXHble
Wt Thl KapTepa

He nocTtaBnAKTCA

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-s0
1 3002000701 KapTtep komnnekr 1 17 4013015101 YNnoTHEeHWe KPbIWKN LUANHAPA 1
2 4001011101 MoAWWNHUK KoNleHBaNa NPaBbIi € 1 18 5030505251 LnunbKa KpenneHuaA KpbIWKW LUANHAPA 1
Ca/NIbHUKOM
3 4014007201 CanyH macnaHoro 6aka 1 19 4013016101 Konbuo ynnotHuTenoHoe 1
4 5030608421 LnnnbKa WwWuHbl 8x42 2 20 4002001110 UnnnHgp 49 mm 1
5 4001003301 KapTep npasas nonosuHa 1 21 4019003101 Mpoknagka rnywutens 2
6 4001005106 WrnoT 2 22 4018005102 JINCT oxnaxaatoLmii 1
7 4019001101 MpoknagKa KapTepa 1 23 5010705131 Bont KpenneHua rnywmutens 5x13 1
8 4007009101 LLITyuep UMNynbCHOTO LWAAHra 1 24 5050208001 LWaiba 2
9 4001002101 KapTep nesas nonosuHa 1 25 5011608541 BonT KpenneHua rnywutens 8x54 2
10 5080315351 MoAWWNHUK KoNeHBana NeBsblit 1 26 4006001207 nywwutens 1
11 5090215221 CanbHWUK KoNeHBana nesbli 1 27 5010705251 BonT KpenneHua umamHapa 5x25 4
12 4013011101 AMOPTU3aTOP TONAMBHOIO HaKa /eBbli 1 28 4019002101 Mpoknagka umnnHapa 1
13 4013010101 AMopTU3aTOpP TONMBHOTO Haka 1 29 5010605321 BonT KpenneHWAa NONOBMHOK KapTepa 5
npasblit 5x32
14 5011805201 Bont Kpennenus ynosutens uenu 5x20 1 30 4013012101 YNNoTHEHWE KPbIWKK LUANHAPA 2
15 | 4018002114 Ynosutens uenu 1 31 3001025202 Mpobka macnobaka 1
16 L8RTF Cseya 3axuraHma 1 32




CraampPron

Power & force MNnocTprpoBaHHBbIit KaTasor 3anacHbiX YacTei Mogaenb: 265

18 1H

2

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuUKyn HanmeHoBaHue K-s0
1 3002000315 Craprep B c6ope 1 13 3001037101 Cobauka cTapTepa 2
2 5010605251 bont M5x25 3 14 4012006101 Mpy»unHa cobaykm cTapTepa 1
3 5010605321 bont M5x32 1 15 5021008011 laiKa KpenaeHna maxosuka M8 1
4 4018007101 BTynKa KpenneHua pyyku Topmosa 1 16 5050408001 Lanba 8 1
5 4012013303 Kpbiwka cTaptepa 1 17 4009001101 MaxoBuk 1
6 3001024104 Pyuka ctapTepa 1 18 4009007103 3alwmTa Konaka ceeuun 1
7 4504001102 Hanpasnatowas WwHypa ctapTepa 1 19 4009010102 YnnoTtHeHue nposoaa 1
8 4012003101 LLHyp cTapTepa 1 20 4009003101 MpoBog, BbIKNIOYEHNA 3aXKMUTraHMA 1
9 3001048101 Kopnyc npy*unHbl ctapTepa 1 21 4009002301 MarHeTto 1
10 4012001101 MpyuHa cTapTepa BO3BpaTHaA 1 22 5010605182 Bont 5x18 2
11 4012015103 BapabaH cTtapTepa 1 23 3001014108 KoXKyXx KpbINb4aTKM MaxoBMKa 1
12 | 4012007101 LLIai6a npyXuHbl cobaukmn 1 24




CraampPron
Power & force

Mﬂﬂl-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: 265

2

23
22

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuUKyn HaumeHoBaHue K-s0
1 3002002711 MopweHb KoMnNekT 49 mm 1 14 5010604101 bont M4x10 2
2 4004002110 Konbuo nopwHesoe 49 mm 2 15 4010005101 LWariba cuenneHuns 3awmTHan 1
3 4004001309 MNopweHb 1 16 4010003101 MpyxuHa cuennexHna 3
4 5080911141 MoAwunnHMK nanbua 1 17 4010002101 KpecToBuHa cuenneHumn 1
5 4004004106 Konbuo crtonopHoe nanbua 2 18 4010001101 TPy3uK LEeHTPObeXKHbIN 3
6 4004003107 MNaneu nopuwHa 1 19 4010008101 [Jleprkatenb rpy3sMKoB cuenaeHuns 3
7 5060103131 LLInoHKa maxoBurKa 1 20 4010001201 CuenneHne KOMNNEKT 1
8 4003001206 KoneHnsan 1 21 4010004301 BapabaH cuenneHus 1
9 4014002202 PunbTp MacnAHbI 1 22 4010007106 3Be3gouKka Begywasn 3/8-72 1
10 4014004101 LLnaHr macnsaHbli BcacbiBatoWmn 1 23 5080816121 MNoawunHuk 6apabaHa cuenneHms 1
11 | 4014001201 MacnoHacoc 1 24 4010009101 LLlaitba 6apabaHa cuenneHus GacoHHas 1
12 | 4014005101 LLInaHr MmacnsHbli1 HAaNOPHbIN 1 25 5070308001 LLlai6a ctonopHas 1
13 4014006301 YepsAk macnoHacoca 1 26




CraampPron

Power & force

MﬂﬂlOCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: 265

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuUKyn HaunmeHoBaHwue K-s0
1 5021108001 [aiKa KpenaeHna KpbILLKKN LNHbI 2 17 4015006101 Manew HaTAXKeHMA Lenu 1
2 3001011311 KpbiLWwKa WwuHbI 1 18 4015002101 BWHT HaTAXeHMA uenn 1
3 4018002133 Haknaaka KpbILWKK WWHbI 1 19 4015006102 Onopa BMHTa HaTAXeHUA Lenu 1
4 3001046103 MNaHKa KPbILWKW WKHbI 2 20 4015012101 Konbuo ynnotHutenbHoe 1
5 5010604101 Bbont M4x10 3 21 4015001101 LlecTepHa HaTauTena uenu 1
6 3001015104 KpbilwKa mexaHn3ma Topmosa Lenm 1 22 4015005104 KpbilWwKa WwWecTepHn HaTAXKUTENA Lenn 1
7 4011003101 JleHTa Topmo3a 1 23 5010604081 bont M4x8 2
8 5040103091 LTndT NneHTbl TOPMO3a 1 24 4015007101 BoKoBOI NNCT Ha KapTep 1
9 5010604101 Bont M4x10 1 25 4014018101 YNnoTHeHMe MacnAaHOro KaHana 1
10 4011008103 3awwmnTHaA 060104Ka NPYKUHDI 1 26 5010705131 BonT KpenneHus 3ybyaToro yrnopa 2
11 4011001101 Mpy**nMHa Topmo3a OCHOBHasA 1 27 4018001101 Ynop 3ybuatbiii 1
12 5070304001 LLlarba ctonopHas 2 28 4011014104 BTynKa KpenneHua pyyku Topmosa 1
13 4011004101 Pblyar TOopmo3HOro mexaHmM3ma 1 29 4011008104 YNnoTHeHune BTYNIKK 1
14 4011013101 Mpy**unHa pblyara 1 30 3001036105 Pyuka Topmosa 1
15 4011004204 Pbluar TopMo3HOro mexaHmsma 1 31 4018004107 Hakneika 3awwmTHas us ¢onbru 1
KOMBUHUPOBAHHbIN
16 3002001302 Hataxkutenb uenm Komnaekr 1 32




CraampPron

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: 265

Ne ApTUKyn HavmeHoBaHue K-Bo Ne ApTUKyn HavmeHoBaHue K-s0
1 3001032306 [aiKa KpenieHna KpbILLKX BO3AYLIHOMO 1 16 4005002304 KoneHo kapbtopatopa 1
dbunbtpa
2 3001010114 KpblwKa Bo3aywHoro ¢punbTpa 1 17 4005006201 XomyT KoneHa 1
3 4005001209 DUNbTP BO3AYLLUHbIN 1 18 5011805201 Bont M5x20 2
4 5021105001 laika M5 2 19 4013004201 AMOPTU3aTOP BEPXHWUI1 NpaBblit 1
5 4005008101 MblAbHMK onopbl punbTpa 1 20 5010605121 Bont M5x12 1
6 3001035302 Onopa ¢unbTpa 1 21 3001019101 PykosTKa TpybyaTas 1
7 3001018101 Kopnyc Bo3gywHoro ¢punbtpa 1 22 5011805201 Bont M5x20 2
8 4018002113 BosayxoBsop, 1 23 5011805301 Bont M5x30 2
9 4005001210 Konbuo ynnotHutenoHoe 1 24 4018006101 [aiKa KpenaeHuna KpbILKKW LUAMHApa 1
10 4007013101 Hanpasnstowas BUHTOB KapbtopaTopa 1 25 4013013101 KonbLo ynnoTHUTEIbHOE ranku 1
11 4020003201 Kap6topaTop 1 26 4018004104 Hakneiika npegoxpaHutenbHas us ¢ponbru 1
12 4007004123 LLnaHr KoMneHcaTopa 1 27 4018002112 3arnyLwka 3uma-neTo 1
13 5011605701 LnunbKa KpenneHus kapbropaTopa (He 2 28 3001009108 KpbiwKa umnmHapa 1
nocrasnsaerca)
14 4019006103 Mpoknagka nog Kapbropatop 1 29 4013014101 AMOPTMU3ATOP KPbIWKWU LUAMHAPA 1
15 4005004108 'mnb3a KoneHa Kapbiopatopa 1 30




CraampPron
Power & force

NnnocTpnpoBaHHbIN

KaTanor 3anacHbIX YacTew

Mogenb: 265

10

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuUKyn HanmeHoBaHue K-s0
1 3002000805 BaK TON/MBHbI KOMNNEKT 1 13 4013002130 AMOPTU3ATOP NEBbIN NepegHUii 1
2 3001008106 Haknapgka 3agHel pyKoaTKU 1 14 4007004112 LWnaHr canyHa 1
3 4008009101 LTndT KypKa rasa 1 15 4007002201 CanyH TonaveHoro 6aka 1
4 3001021104 MpepoxpaHuTensb Kypka rasa 1 16 4007001201 DUNLTP TONANBHbIN 1
5 3001020104 Kypok rasa 1 17 4007007102 Btynka ¢unbTpa 1
6 4008003101 Tara rasa 1 18 4007004109 LLinaHr TONAVBHBbIN 1
7 4008002104 MpynHa KypKa rasa 1 19 4009005101 Bbik/touaTenb 3axuraHuna 1
8 3001034309 Pblyar ynpasneHusa Bo3ayLiHOM 1 20 5011606251 BonT KpenneHna amopTmsaTopa 1
3aC/I0HKOMN
9 4008006101 MnacTMHa KOHTaKTHaA 1 21 4013009101 BTysnKka 6onTa amopTtusaTtopa 1
10 | 4007004104 LLnaHr MMNYAbCHbIN 1 22 4013017101 AMOPTU3ATOP NEBbIN BEPXHUIA 1
11 5011605701 LLinnnbKa KpenneHus KapblopaTopa (He 2 23 5010604181 Bont m4x18 2
nocraenserca)
12 | 4013007201 AmMoOpTH3aTOp Npasblii NnepegHUi 1 24
KOMNAEeKT




